2009. 2학기 임베디드 시스템 설계(채수익 교수님) 기말고사 답안지.
1. 
a. e=10, n=7, p=1
cyclomatic complexity = e-n+2p = 10-7+2 = 5

b. e=17, n=11, p=1
cyclomatic complexity = e-n+2p = 17-11+2 = 8

c. e=8, n=6, p=1
cyclomatic complexity = 8 – 6 + 2 = 4

2. 
a. pair 1
def : x = a+b;
use : x<20
pair 2
def : y=c+d;
use : y<10, y=y+e
pair 3
def : y=y+e
use : y=y+e

b. pair 1
def : i=0
use : i<10, i++, x[i], a[i]
pair 2
def : i++
use : i++, i<10, x[i], A[i]
pair 3
def : s=a-b
use : b[s]
  
c. pair 1
def : x=a-b
use : x<10
pair 2
def : y=c-d
use : q=y+e, z<y
pair 3
def : z=e-f, z=e+f
use : z<y
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5. 
a. P()
{
  int *temp;
  while(1)
  {
    swap(temp, &semaphore);
    if (*temp>=1) {
      *temp--;
      break;
    }
    swap(temp,&semaphore);
  }
}

b. V()
{
  int *temp;
  swap(temp, &semaphore);
  *temp++;
  swap(temp,&semaphore);
}
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Context switching 수 : a=b
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